
Q. How did Appadurai describe non-alignment? 

Ans.According to Appadurai, non alignment means that the 

state described as non aligned has no military alliance with 

any other state. 

Q.  আপ্পাদরুাই কিভাবে জ াট কিরবেক্ষতার ের্ণিা কদব়েবেি? 

Ans. আপ্পাদরুাইর মবত কিরবেক্ষতা েলবত জোঝা়ে জেই জদশ 
কিরবেক্ষ যাবদর অিয জিাি জদবশর েবে োমকরি জযাগাবযাগ 

জিই। 

 

Q. How did Pandit Jawaharlal Nehru describe non-alignment 

? 

Ans. According to Pandit Jawaharlal Nehru,  non-alignment 

means the attempt by a nation to keep itself aloof from 

military blocks. It means we view things as far as possible not 

from a military point of view. The Nations must have 

Independent viewpoints and must have friendly relations 

with all other Nations. 

Q. েকিত  ওহরলাল জিহরু িীভাবে জ াট কিরবেক্ষতার ের্ণিা 
কদব়েবেি? 

Ans.  াও়োহারলাল জিবহরুর মবত কিরবেক্ষতা েলবত জোঝা়ে 
জয জদশ কিব বি অিয জিাবিা োমকরি জ াবটর জেবি আলাদা 

িবর রাখবত েমেণ হ়ে। যার অেণ জিাি কেষ়েবিই এমি ভাবে 
জদখা, যার োমকরি জযাগ ো েম্পিণ  জিই। এিটি জদশ এিলাই 



স্বাধীি মত প্রিাশ িরবে এেং অিয জিাি জদবশর েবে েনু্ধত্বেূর্ণ 

েম্পিণ  রাখবে। 
 

Q. Mention two advantages of non alignment according to 

India. 

Ans  The two advantages of non-alignment according to India 

are – 1.  India was able to maintain its independence in policy 

making  2. India was able to maintain neutral status. 

Q.ভারত অিেুাবর জ াট কিরবেক্ষতার দটুি েুকেধা উবেখ িবরা। 
Ans. 1.ভারত তার িীকতকিধণারবর্ স্বাধীিতা ো়ে এেং 
রক্ষর্াবেক্ষর্ িরবত েক্ষম হ়ে 2. ভারত কিরবেক্ষ ে া়ে রাখবত 

েক্ষম হ়ে। 

 

Q.Name two factors that affect the foreign policy of India. 

Ans. Two factors that determine Indian foreign policy are 

economic development and domestic milieu. 

Q.ভারবতর বেবদকশি িীকতবি প্রভাকেত িবর এমি দটুি িারবর্র 

িাম েবলা। 
Ans.দটুি কেষ়ে যা ভারতী়ে বেবদকশি িীকত কিধণারর্ িবর তা 

হ'ল অেণনিকতি উন্ন়েি এেং অভযন্তরীর্ েকরকিকত। 
 

 



Q. What is Foreign Policy? 

Ans.  Foreign policy is the sum total of the principles, 

interests and objectives with the state formulas in 

conducting its relations with other countries. 

Q. বেবদকশি িীকত কি? 

Ans. েররাষ্ট্রিীকত হল অিযািয জদবশর োবে েম্পিণ  েকরচালিার 
জক্ষবে রাষ্ট্রী়ে েূেগুকলর োবে মলূত িীকতগত আগ্রহ এেং 

উবেশযগুকলর জযাগফল। 

 

Q.What is glasnost ? 

Ans. Glasnost or openness is a Soviet policy of open 

discussion of political and social issues it was instituted by 

Mikhail Gorbachev in the late 1980s. 

Q. গ্লােিস্ট কি? 

Ans.গ্লােিস্ট হল রা নিকতি ও োমাক ি প্রশ্নগুকলর উন্মকু্ত 
আবলাচিার এিটি জোকভব়েট িীকত যা ১৯৮০ এর দশবির 

জশষকদবি কমখাইল গেণাবচভ প্রকতষ্ঠা িবরকেবলি। 
 

 

Q. Mention two impacts of the end of the Cold War. 

Ans.  Two impacts of the end of the Cold War are – 1. the 

hostility between the US and the USSR came to an end    2. 



the end of the Cold War meant the end of bipolarity in the 

world. 

Q. শীতল যুবের েমাকির দটুি প্রভাে উবেখ িবরা। 
Ans. শীতল যুবের েমাকির দটুি প্রভাে হ'ল: ১. মাকিণ ি 
যুক্তরাষ্ট্র ও ইউএেএেআর-এর মবধয বেকরতার অেোি হও়ো ২. 
শীতল যুবের েমাকির িারবর্ েৃকেেীবত কিোকক্ষিতার অেোি 
হ়ে 

 

Q. What is meant by unipolarity? 

Ans.  Unipolarity means the emergence of only one power 

that is the USA after the disintegration of the USSR. 

Q. ইউকি জোলাকরটি  েলবত িী জোঝা়ে? 

Ans. ইউকি জোলাকরটি মাবি জিেলমাে এিটি শকক্তর উত্থাি যা 
ইউএেএেআর জভবে যাও়োর েবর মাকিণ ি যুক্তরানষ্ট্রর জক্ষবে জদখা 

কগব়েকেল। 
 

Q. Mention the full form of NATO and LDC. 

Ans. NATO stands for North Atlantic Treaty organisation .  

LDC stands for Least Developed Countries. 

Q. NATO এেং LDC  েম্পূর্ণ ফবমণ উবেখ িবরা। 

Ans.  NATO অেণাৎ North Atlantic Treaty organisation ।  

LDC  অেণাৎ Least Developed Countries  । 



 

 

Q.What is perestroika? 

Ans. Perestroika or restructuring was a program instituted in 

the Soviet Union by Mikhail Gorbachev in the mid 1980 to 

restructure the Soviet economic and political policy. 

Q.জেবরবরাি িী ? 

Ans. জোকভব়েত অেণনিকতি ও রা নিকতি িীকত েুিগণঠবির 
 িয 1980 োবলর মাঝামাকঝবত কমখাইল গেণাবচভ িারা 
জোকভব়েত ইউকি়েবি প্রকতকষ্ঠত এিটি জপ্রাগ্রাম কেল জেবরবরাি 

ো েুিগণঠি। 


